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QUESTION 1

What happens if an HPE mniStack Virtual Controller (VC) fails in a multi-node HPE SimpliVrty cluster?
A. All VMs on the node restart in a node where the replica resides.

B. HPE SimpliVity Intelligent Workload ptimizer restores the VC from backups.

C. The IP address of the VC fails over to another HPE SimpliVity node.

D. All VMs on the node go on standby mode to avoid data loss.

Correct Answer: A

QUESTION 2

A customer wants to provide access to the HPE SimpliVity datastores for compute nodes running CPU-intensive virtual
machines. What should you tell the customer?

A. It is supported to connect up to 5 compute nodes per SimpliVity node.
B. Additional license is required to connect ESXi nodes to SimpliVity datastores.

C. Connecting ESXi compute nodes is possible only when VMFS datastores are configured at SimpliVity Federation
level

D. Compute nodes must reside in the same cluster as HPE SimpliVity nodes.

Correct Answer: D

QUESTION 3

A customer plans to deploy HPE SimpliVity 380 Genl10 LFF H and HPE SimpliVity 380 Gen10 SFF H nodes. What
should you recommend tor this setup?

A. Put each type of the nodes in a different federation.
B. Replace the LFF nodes with all-flash nodes.

C. Put all of the nodes in the same cluster.

D. Put SFF and LFF nodes in separate clusters.

Correct Answer: D

QUESTION 4

You try to delete an existing datastore, but the operation fails. What is a likely cause of the failure?
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A. The datastore is marked as read-only.

B. The FC connection between the host and array has failed.
C. The management network for a host is disconnected.

D. This datastore is not added to your scope.

Correct Answer: A

QUESTION 5

A customer is analyzing data using HPE InfoSight for HPE SimpliVity. They found that the Total Data Stored for a VM is
significantly higher than the VM Storage Usage in vCenter. How do you explain these findings?

A. The VM is configured with RF3.

B. The Total Data Stored includes VM data, local backups, and remote backups.
C. The Total Data Stored includes the datastore size and its replicas.

D. The VM was thick provisioned.

Correct Answer: A
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